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If MEN = O
, everything remains the

same
N ← F

( FEM )¥µ°d = ( FEM )fµ -
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VN = + ✓NZ

Ve = VE + VE

Tutorialprobleur
24 KN

A go ⇐ om

too D

X# ELI = K

GM 3M 3M

MBA = 2K ( 20,3 ) - D
HBD = - UDC = y

MBD = 6K ( OB - y ) - 2)

Mpc = 6k ( - y ) - 3)
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⇐ MB = MBA + MBD = 0

NEED = V5tV5 -124=0

solve
, Ob = - It = -3¥ ,
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MBA = - MBC = -20-57 KN.hr

MAB = -10 - 28 kN - M
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HAB = - 4 Bc = 4 } Including sign for CW

Alternately

I } 34 AB
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HAB = - UBC = 4
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MBA = 2E ( 2013 - 4 )
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Joint B

f EMB = MBA t MBC = 0

full FBD

TEND = MAB - VAX 6 - 60×3=0
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